MECHA Set-up Collars

Oooogdon 0000

247151
RsCOOOD -
o d
—ID 2-COO S
u
O
o 25 0
Slagfr || T Noooo
HEL ;. [lao
0
0
0
0
0x0 [J___I 0
J BE3[E! .
:
m 0o gogoiol RSCH  epgpgo000ss40@000MO0000SCM435  000m .
ogoo|oo | od oooo goo|oo od oooo O
Sl ot oD [B£01 D1 Wi x )y Mx 00 Sl o oD [B£01 D1 Wi x|y Mx 00 E
RSC-0308 950 3 8 15 |1 45| 3 M3x 8 | RSC-1615 1,600 16 | 15 40 11513 | 8 | M6x 20 H
RSC-0408 950 4 8 15 |1 |45 3 M3x 8 | RSC-1715 1,600 17 | 15 40 11513 | 8 | M6x 20 o
RSC-0508 1,050 5 8 20 |1 |55 4 | M3x 10 | RSC-1815 1650 18 | 15 45 11515 | 8 | M6x 20
RSC-0510 1,250 5 10 20 |1 6 4 | M4x 10 | RSC-2010 1,650 20 | 10 40 |15 14 7 | M4x 16
RSC-0608 1,300 6 8 20 |1 6 | 4 | M3x 10 | RSC-2012 1,650 20 | 12 40 11514 | 7 | M5x 16 g
RSC-0610 1,300 6 10 20 |1 6 | 4 | M4x 10 | RSC-2015 1,650 | 20 | 15 45 11515 | 8 | M6x 20 d
RSC-0808 1,500 8 8 25 |15 8 | 5 | M3x 10 | RSC-2512 1650 | 25| 12 45 11517 | 7 | M5x 16 g
RSC-0810 1,500 8 10 25 |15 8 | 5 | M4x 12 | RSC-2515 1,800 25| 15 50 | 1.5| 18 | 10 | M6x 25 H
RSC-0812 1,500 8 12 28 11585 5 | M5x 16 | RSC-3015 1900 30| 15 55 11520 | 10 | M6x 25 O
RSC-0815 1,500 8 15 30 15| 9 | 5 | M6x 15 | RSC-3515 2,050 | 35| 15 60 | 2 23 | 12 | M6x 25
RSC-1010 1,550 | 10 10 30 115] 9 | 5 | M4x 12 | RSC-4018 2,500 | 40 | 18 70 | 2 26 | 13 | M8x 30
RSC-1012 1,550 | 10 12 30 15| 9 | 5 | M5x 16 | RSC-4518 2,650 | 45| 18 75 |3 28 | 14 | M8x 30 0
RSC-1015 1,550 | 10 15 35 15|10 6 | M6x 14 | RSC-5022 3,000 | 50 | 22 85 |3 32 | 16 | M10x 35 H
RSC-1210 1,550 | 12 10 30 1510 5 | M4x 12 | RSC-5522 3300 | 55| 22 90 | 3 34 | 18 | M10x 35 E
RSC-1212 1550 | 12 12 30 |15] 10| 5 | M5x 16 | RSC-6022 3,500 | 60 | 22 95 |3 37 | 18 | M10x 35
RSC-1215 1,550 | 12 15 35 /15|11 | 6 | M6x 18 | RSC-6525 4,150 | 65 | 25 | 105 |5 40 | 18 |M12x 40
RSC-1310 1,550 | 13 10 30 1510 5 | M4x 12 | RSC-7025 4,700 70 | 25 | 110 |5 43 | 18 |M12x 40
RSC-1315 1,550 | 13 15 35 /15|11 | 6 | M6x 18 | RSC-7525 5100 | 75| 25 | 115 |5 45 | 20 |M12x 40
RSC-1510 1,550 | 15 10 32 1511 6 | M4x 12 | RSC-8032 6,250 | 80 | 32 | 130 |5 50 | 22 | M16x 50 1]
RSC-1512 1,600 | 15 12 35 15|12 | 6 | M5x 16 | RSC-9032 8,300 | 90 | 32 | 140 |5 55 | 24 | M16x% 50 E
RSC-1515 1,600 | 15 15 40 |15 13 | 8 | M6x 20 | RSC-10036 9,300 | 100 | 36 | 150 |5 60 | 26 | M16x 50 ]
RSC-1610 1,550 | 16 10 35 /15|12 | 6 | M4x 12 | RSC-11036 | 12,300 | 110 | 36 | 170 |5 70 | 28 | M16x 50 E
RSC-1612 1600 | 16 12 35 |15/ 12 | 6 | M5x 16 | RSC-12036 | 13,400 | 120 | 36 | 180 | 5 75 | 30 | M16x% 50 E

0 RSCO SCSS-CO NSCSS-C

RSC-MSO O OO o
0 [}
_P.ID u}
2-c00 O
} O
O
- 04 -
Slagl |71 Naooo
BEL  |lno
]
0
0
]
DXDE_I___I ]
[]1£10.1
(0000000000000 000 RSC-MSL epnononnnsus304000000SUS304
]
Ooo| oo |oo oDooo Ooo| oo (oo oooo g
S 00 "epletorl b1 (W[ XY mxoo S 00 "epletorl o1 | W[ XY mxoo g
RSC-0510MS | 1,300 | 5 10 | 20 |1 | 6| 4 | M4x 10 | RSC-1612MS | 2,050 & 16 | 12 | 35 (15 12 | 6  M5x 16 -
RSC-0610MS | 1,400 6 10 20 |1 6 4 M4x 10 | RSC-1615MS | 2,050 16 15 40 |15 13 8 | M6x 20 H
RSC-0810MS | 1,500 | 8 | 10 | 25 |15 8 | 5 | M4x 12 | RSC-2012MS | 2,200 | 20 | 12 | 40 |15 14| 7 | M5x 16 o
RSC-0815MS | 1,750 | 8 | 15 | 30 |15 9 | 5 | M6x 15 | RSC-2016MS | 2,200 | 20 | 15 | 45 |15 15 | 8 | M6x 20 O
RSC-1010MS | 1,850 | 10 | 10 | 30 |15 9 | 5 | Mdx 12 | RSC-2512MS | 2,500 & 25 | 12 | 45 15 17 | 7 | M5x 16 T
RSC-1015MS | 1,850 | 10 | 15 | 35 |15 10 | 6 | M6x 18 | RSC-2515MS | 2,600 | 25 | 15 | 50 | 1.5 18 | 10 | M6x 25 O
RSC-1210MS | 1,850 | 12 | 10 | 30 |15 10 | 5 | Md4x 12 | RSC-3015MS | 2,800 & 30 | 15 | 55 | 1.5 20 | 10 | M6x 25 -
RSC-1215MS | 1,850 | 12 | 15 | 35 |15 11 | 6 | M6x 18 | RSC-3515MS | 3,000 | 35 | 15 | 60 | 2 | 23 | 12 | M6x 25 0
RSC-1310MS | 1,850 | 13 | 10 | 30 |15 10 | 5 | Mdx 12 | RSC-4018MS | 4,000 & 40 | 18 | 70 | 2 | 26 | 13 | M8x 30 &
RSC-1315MS | 1,850 | 13 | 15 | 35 |15 11 | 6 | M6x 18 | RSC-4518MS | 4,300 & 45 | 18 | 75 | 3 | 28 | 14 | M8x 30
RSC-1512MS | 2,050 | 15 | 12 | 35 |15 12 | 6 | M5x 16 | RSC-5022MS | 5,200 | 50 | 22 | 85 |3 | 32 | 16 |M10x 35
RSC-1515MS | 2,050 | 15 | 15 | 40 | 15| 13 | 8 | M6x 20

0 RSC-MS[ SCMS-S[0 NSCSS-S

[ﬂ:ﬁE’ @-133



